INceb014V03 GL

/QQ

A"

T

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

ASSEMBLY INSTRUCTION



%
W0

M6*5 |
T — B NI | F EXT N . 51
¢’
e

1.0pen the carton box and take out the tool cabinet,

should be carefully.

2.Remove the lock bar, open the door, remove the top
7 cabinet and plate.
3.Remove the accessory box from the drawer.
4.Put down the cabinet on the floor and mounting
wheels.4universal wheels and 1 with brake , itis
recommended to install the brake wheel on the right of
front, and use an open-end wrench to fix the wheels.

5.Stand up the tool cabinet and use 5 pieces M6*9
screws to secure the plate.

° 6.Take out 2 pieces M6*9 screws to fix the part box on
the side.

7.Install the door handle with the M4*6 screws.

— | 8.Put the top cabinet on the below cabinet. Then you can
W)d use it normally.

NOTES: 4 pieces M6*9 already be installed on the
cabinet when packing, the accessory box have 3 pieces.




1. Offnen Sie den Karton und nehmen Sie vorsichtig den
Werkzeugschrank heraus.

2. Entfernen Sie die Verriegelungsstange, 6ffnen Sie die Tar,
nehmen Sie den oberen Schrank und die Platte heraus.

3. Nehmen Sie den Zubehorkarton aus der Schublade.

4. Stellen Sie den Schrank auf den Boden und die
Montagerader ab. 4 Universalrader und 1 mit Bremse. Es wird
empfohlen, das Bremsrad rechts vorne zu montieren und die
Rader mit einem Maulschlissel zu befestigen.

5. Stellen Sie den Werkzeugschrank auf und verwenden Sie 5
Stick M6*9-Schrauben, um die Platte zu befestigen.

6. Nehmen Sie 2 Stliick M6*9-Schrauben , um den Teilekasten
seitlich zu befestigen.

7. Montieren Sie den Turgriff mit den M4*6-Schrauben.

8. Setzen Sie den oberen Schrank auf den unteren Schrank.
Dann kdnnen Sie ihn normal benutzen.

ANMERKUNGEN: Beim Verpacken sind bereits 4 Stick M6*9
auf dem Schrank installiert, die Zubehorkiste enthalt 3 Stlick.

1.0Ouvrez la boite de carton et retirez I'armoire a outils avec
précaution.

2.Retirez la barre de verrouillage, ouvrez la porte, retirez
I'armoire supérieure etla plaque.

3.Retirez la boite a accessoires du tiroir.

4.Posez l'armoire sur le sol et montez les roues. 4 roues
universelles et 1 avec frein. |l est recommandé d'installer la
roue avec frein a droite de I'avant et d'utiliser une clé a
fourche pour fixer les roues.

5.Relevez I'armoire a outils et utilisez 5 piéces de vis M6*9
pour fixer la plaque.

6.Retirez 2 morceaux de vis M6*9 pour fixer la boite a
piéces sur le coté.

7.Installez la poignée de porte avec les vis M4*6.

8.Mettez I'armoire supérieure sur l'armoire ci-dessous.
Ensuite, vous pouvez |'utiliser normalement.

NOTE : 4 pieces M6*9 déja étre installé sur I'armoire lors de
I'emballage, la boite a accessoire comporte 3 piéces.




ES

1.Abra la caja de cartén, saque el carro de herramientas cuidadosa-
mente.

2.Retire la barra de bloqueo, abra la puerta, retire el compartimento
superior y la placa.

3.Saque la caja de accesorios del cajon.

4.Coloque el carro de herramientas en el piso, y monte las ruedas,
que son 4 ruedas giratorias y 1 rueda con freno, se recomienda
instalar la rueda de freno a la derecha de la parte frontal, luego fije
las ruedas con una llave de boca.

5.Levante el carro de herramientas, y fije la placa con los 5 tornillos
M6 * 9.

6.Fije la caja de piezas al costado con los 2 tornillos M6 * 9 .

7.Fije la manija a la puerta con los tornillos M4 * 6.

8.Coloque el compartimento superior en el compartimento inferior.
Ya puede utilizar el carro de herramientas normalmente.

NOTAS: Se han instalado las 4 piezas M6 * 9 en el carro de herra-
mientas al empacar; y en la caja de accesorios hay 3 piezas.

1.Aprire la confezione di cartone ed estrarre I'armadietto degli
attrezzi. Tutto viene fatto con attenzione.

2.Rimuovere la barra di bloccaggio, aprire la porta, rimuovere I'arma-
dietto superiore € la piastra.

3.Rimuovere la scatola degli accessori dal cassetto.

4. Appoggiare I'armadietto sul pavimento e montare le 4 ruote
universali, una delle quali dispone del freno. Si consiglia di montare
la ruota del freno a destra della parte anteriore e utilizzare una
chiave inglese per fissare le ruote.

5. Posizionare verticalmente I'armadietto degli attrezzi e utilizzare 5
viti M6*9 per fissare la piastra.

6. Estrarre 2 viti M6*9 per fissare la scatola delle parti sul lato.
7.Montare la maniglia della porta con le viti M4*6.

8.Mettere I'armadietto superiore sull'armadietto sottostante. Adesso
puoi usarlo normalmente.

NOTA: 4 pezzi M6*9 gia montati sul’armadietto durante I'imballag-
gio, e per la scatola degli accessori, ci sono 3 pezzi.




